= AH
N = 0 &8 AFH Y & A AN
20168 T =& 3 5 Utz Ras
2N RAS
Hi: RQAS A
CHe: PAS ARDT0I=2AAY (St
SAH-AH -2 (SA) - HREAY - BES 01l Ao IR Husz
A= 483,679 492,140 A8,461
SAS A AH 170,273 178,734 A8,461
PAS ARDFOSAAY 170,273 178,734 A8,461
PAS FO=RAAY 85,740 98,000 A 12,260
401 Al 2 HIZ 20| 85,740 98,000 A 12,260
01 A& H| 85,740 98,000 A 12,260
PAES SIS T2 HHI2AHL=55m, B
2m) 18,130, 000 * 18,130 0 18,130
OHEZY 020/ =0IE HIZ DM S AHEA:
om) 3y 0 25,000 A 25,000
O0l30tE S2Z A& WA BAH(L=1km)
3 0 40,000 240,000
OSAD0IS AGHA HH|IZAHL=45m, H=1.6m
37 0 15,000 A 15,000
ORAMES 04 t422 HHIZAHL=300m ,B=
3m) 2 21,190,000& 21,190 18,000 3,190
ORA3E A0S B2 =HAIL HHM
ZAH(ZHMEE L BS2 1A, =HAH 14!)
13,500, 000! 14l 13,500 0 13,500
ORASFOHE & HI=2 HHIZAHL=61m, P
VCOI == 2 (D300) L=22m) 10,830,000 x 14! 10,830 0 10,830
ORAE NOEESE L2 Hi+22 HXBA
=16m, ¢ =100mm) 3,240,000 *1 3,240 0 3,240
ORAE 0/3H12 01N YK ZEZAH t=3mm)
10,650, 000! 14l 10,650 0 10,650
003t =522 HIHA X 2 AHL=54m, B=0
5m) 8,200,0008 * 14l 8,200 0 8,200
PAS FOSHEGA L SHAEHY| 84,533 80,734 3,799
101 @124l 75,533 71,734 3,799
04 JIZtRI2R2XEES 75,533 71,734 3,799
OZ A 61,645 57,846 3,799
> EE 3 22,790,400 /128 «2 4 3,799 0 3,799




